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Math 1316 Section 2.4 Class

Solving Right Triangles

Solving An Applied Trigonometry Problem

Step 1: Draw a sketch, and label it with the given information. Label the quantity to be found with a variable.
Step 2: Use the sketch to write an equation relating the given quantities to the variable.

Step 3: Solve the equation, and check that your answer makes sense.
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Math 1316 Section 2.4 Class Notes

3. a=958m, b=489m
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Angles of Elevation and Depression

The angle of elevation of an object as seen by an observer is the angle between the horizontal
line and the line from the object to the observer's eye (the line of sight).

Horizontal

Observer's eye

The angle of elevation of the object from the observer is &°.

If the object is below the level of the observer, then the angle between the horizontal line and the
observer's line of sight is called the angle of depression.

Observer's eye

Horizontal

Line of sight

Object

The angle of depression of the object from the observer 1s §°.
Example (in terms of bearing)

1. A fire is sighted due west of lookout A. The bearing of the fire from lookout B, 7.8 miles
due south of A, is N 34°44'W. How far is the fire from B (to the nearest tenth of a mile)?
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2. From a balloon 996 feet high, the angle of depression to the ranger headquarters is

46°49°. How far is the headquarters from a point on the ground directly below the
balloon (to the nearest foot)?
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3. From a boat on the lake, the angle of elevation to the top of a cliff is 35°13” If the base of

the cliff is 2664 feet from the boat, how high is the c]iﬂ"{to the nearest foot)?
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